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QUESTION 1

Which type of compression is typically used with column-organized tables? 

A. BLU compression 

B. Value compression 

C. Actionable compression 

D. Adaptive row compression 

Correct Answer: A 

 

QUESTION 2

How is the Query Workload Tuner license installed and enabled? 

A. With Data Studio, using the license activation kit. 

B. By executing the db2licm command after data server installation. 

C. With the Optim Performance Manager Server, using the license activation kit. 

D. By running the Query Workload Tuner license activation command on the appropriate WebSphere server. 

Correct Answer: A 

 

QUESTION 3

If the following commands are executed successfully: 

Which SQL statement will fail? 
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A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: C 

 

QUESTION 4

When does space reclamation for a column-organized table normally occur? 

A. Whenever an individual row is deleted. 

B. Whenever an individual row is updated. 

C. After all rows in an extent have been updated. 

D. After all rows in an extent where updates took place have been deleted. 

Correct Answer: A 

 

QUESTION 5

What is a DB2 Advanced Copy Services (ACS) script used for? 

A. To install and configure DB2 Advanced Copy Services. 

B. To redirect Tivoli Storage FlashCopy Manager commands to DB2 Advanced Copy Services. 

C. To test the functionality of a DB2 ACS API vendor library without performing a snapshot backup or restore operation. 

D. To perform snapshot backup and restore operations on storage devices that do not have a DB2 ACS API vendor
library. 

Correct Answer: C 
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